
Write the first  terms 5 of the sequence

𝑡ଵ = 2, 𝑑 = 3

𝑡ଶ = 2, 𝑡ହ = −4

5 − 2 = 3   2 + 3𝑑 = −4
−2              − 2
           3𝑑 = −6

           
3𝑑

3
⎯⎯⎯= −

6

3
⎯⎯

             𝑑 = −2

4, 2, 0, −2, −4

2,5,8,11,14

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑
𝑡ଶ = 𝑡ଵ + (2 − 1)𝑑
 2 = 𝑡ଵ + 𝑑

 𝑡ଵ = 2 − 𝑑

𝑡ଵ = 2 − (−2)
𝑡ଵ = 4

OR
Systems of Equations

_____ , _____ , ______ , ______ , _____
𝑡ଵ            𝑡ଶ            𝑡ଷ             𝑡ସ            𝑡ହ

2

+3

_____ , _____ , ______ , ______ , _____
𝑡ଵ            𝑡ଶ            𝑡ଷ             𝑡ସ            𝑡ହ

2                                         − 4

+𝑑 +𝑑 +𝑑

𝑡ଶ = 2, 𝑡ହ = −4

  𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑
  𝑡ହ = 𝑡ଵ + (5 − 1)𝑑
−4 = 𝑡ଵ + 4𝑑

−4 = (2 − 𝑑) + 4𝑑
−4 = 2 + 3𝑑
   𝑑 = −2

−𝑑

𝐿𝑜𝑔𝑖𝑐

𝑡଻ = 26, 𝑡ଽହ = 378

95 − 7 = 88   26 + 88𝑑 = 378
−26                − 26
              88𝑑 = 352

             
88𝑑

88
⎯⎯⎯⎯=

352

88
⎯⎯⎯

                  𝑑 = 4

2 + 3 = 5
5 + 3 = 8
…

26 − 4 = 22
22 − 4 = 18
18 − 4 = 14
14 − 4 = 10
…

2 − 2 = 0
0 − 2 = −2
…
2 + 2 = 4

2,6,10,14,18

 𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑
 𝑡଻ = 𝑡ଵ + (7 − 1)(4)
26 = 𝑡ଵ + 24

𝑡ଵ = 2

OR
𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑
𝑡ଶ = 2 + (2 − 1)(4)

𝑡ଶ = 6

𝐿𝑜𝑔𝑖𝑐

      𝑡ଵ= 1𝑠𝑡 𝑡𝑒𝑟𝑚 (𝑎𝑘𝑎: "a or u1")
      d = 𝑐𝑜𝑚𝑚𝑜𝑛 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒 
     𝑡௡= 𝑡𝑒𝑟𝑚 𝑛, 𝑒𝑣𝑒𝑟𝑦 𝑡𝑒𝑟𝑚
     𝑛 = 𝑇𝑒𝑟𝑚 #, 𝑜𝑟 # 𝑜𝑓 𝑡𝑒𝑟𝑚𝑠

𝑛 = 1    𝑛 = 2    𝑛 = 3     𝑛 = 4     𝑛 = 5   

_____ , _____ , ______ , ______ . _____4            2             0          − 2        − 4

_____ , _____ , ______ , ______ . _____2            6          10           14             18

  𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑
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𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑

General term formula

𝑡ଵ = 2

𝑾𝒉𝒂𝒕 𝒊𝒔 𝒕𝒉𝒆 𝒕𝒆𝒏𝒕𝒉 𝒕𝒆𝒓𝒎 𝒕𝟏𝟎?

𝑡௡ = 3𝑛 − 1
𝑡ଵ଴ = 3(10) − 1
𝑡ଵ଴ = 29

𝟓𝟑 𝒊𝒔 𝒘𝒉𝒂𝒕 𝒕𝒆𝒓𝒎, 𝒕𝒏 = 𝟓𝟑, 𝒏 =? 

  𝑡௡= 3𝑛 − 1
53 = 3𝑛 − 1
+1            + 1
54 = 3𝑛
54

3
⎯⎯⎯=

3𝑛

3
⎯⎯⎯

𝑛 = 18

𝑑 =  𝑡௡ − 𝑡௡ିଵ

𝑑 = 8 − 5

𝑑 = 3

𝑑 =  𝑡௡ − 𝑡௡ିଵ

𝑑 = 5 − 2

𝑑 = 3

2   , 5   ,  8   ,____ ____ ____                   
𝑡ଵ 𝑡ଶ 𝑡ସ

+3+3

𝑑 =  𝑡௡ − 𝑡௡ିଵ

____                   
𝑡ଷ

____                   
𝑡ଵ଴

____                   
𝑡௡

…  …..

Arithmetic: d must always be the same

Remember: You could have also added the common difference repeatedly

? ? 53

𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝑮𝒆𝒏𝒆𝒓𝒂𝒍 𝒕𝒆𝒓𝒎 𝒕𝒏 =?

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑
𝑡௡ = 2 + (𝑛 − 1)3
𝑡௡ = 2 + 3𝑛 − 3
𝑡௡ = 3𝑛 − 1

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟: 
2,5,8,11,14,17,20,23,26,29

𝐶ℎ𝑒𝑐𝑘 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟:
 2,5,8,11,14,17,20,23,26,29,32,35,28,41,44,47,50,53

𝑇ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑡𝑒𝑟𝑚
𝑝𝑙𝑢𝑠 n 

ᇱ − 1ᇱ 𝑑𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑐𝑒𝑠

A term subtracted by  the term before it

𝑡௡ = 𝑡ଵ + (𝑛 − 1)𝑑
𝑡ଵ଴ = 2 + (10 − 1)3
𝑡ଵ଴ = 2 + 27
𝑡ଵ଴ = 29

Or, Start from beginning

Difference

𝑡௡ =  ? 𝑡ଵ଴ =  ? 𝑡௡ =  53, 𝑛 = ? 𝑑 = ?

_____ , _____ , ______ … ______ … _____

𝑛 = 1      𝑛 = 2     𝑛 = 3  𝑛 = 4     𝑛 = 10        𝑛 = ?  

𝑡௡ିଵ = 𝑡𝑒𝑟𝑚 𝑏𝑒𝑓𝑜𝑟𝑒 𝑡௡

C11 - 1.1 - Arithmetic Sequences Notes

   Seq Page 2    


